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Quiz Date: 21st February 2020 

Directions (1-5): What will come in the place of question mark (?) in the following number 

series: 

Q1. 36,     39,      43,      49,        58,      71,  ?  

(a) 80 

(b) 84 

(c) 97 

(d) 89 

(e) 92 

 

Q2. 1296,   648 ,  216,   108,   36,   ?  

(a) 30 

(b) 18 

(c) 12 

(d) 24 

(e) 36 

 

Q3. 3,      2,        2,        3,        8,       ?  

(a) 45 

(b) 35 

(c) 25 

(d) 17 

(e) 16 

 

Q4.  128,   64,   96,  240,   840,    ?  

(a) 6840 

(b) 3360 

(c) 3390 
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(d) 4260 

(e) 3780 

 

Q5. 2,      3,      5,       7,      ?,        13,    17    

(a) 9 

(b) 11 

(c) 12 

(d) 10 

(e) 8 

 

Directions (6-10): What will come in the place of question mark (?) 

Q6. 
8.64×

1

?

1.8 × 0.2
 = 100 

(a) 240    

(b) 2.40  

(c) 24 

(d) 0.024    

(e) 0.24 

 

Q7. 693 ÷ ? × 625 ÷ 55 = 875 

(a) 5    

(b) 4 

(c) 9    
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(d) 8 

(e) 6  

 

Q8. 
2

3
×

5

7
×

14

25
× ? = 100 

(a) 235 
(b) 375 
(c)  425    
(d) 328 
(e) 548 
 

Q9. (
2

3
 𝑜𝑓 240) ÷ 0.8 = ? 

(a) 200   
(b) 240 
(c) 160 
(d) 180 
(e) 220 
 

Q10. 43 % of 125 × 12 = ? – 55 
(a) 865 
(b) 832  
(c) 664 
(d) 700 
(e) 732 
 

Directions (11 – 15): Solve the given quadratic equations and mark the correct option 

based on your answer. 

(a) if x>y 
(b) if x≥y 
(c) if x<y 
(d) if x ≤y 
(e) if x = y or no relation can be established between x and y. 
 

Q11. I. x2 − 12𝑥 + 35 =  0 

         II.  y2 –  15𝑦 + 54 = 0 

 

Q12. I.  x2 + 4𝑥 + 3 = 0 
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         II. y2 +8𝑦 + 15 = 0 

 

Q13. I. 4x2 –  8𝑥 + 3 = 0  

         II. 4y2 -1 = 0 

 

Q14.  I. 2x2 - 11x + 15 =0 

          II. 4y2 -8y + 3 = 0 

 

Q15.  I. x2 = 225 

           II. (y +15)2 = 0 

 

Solutions 

 

S1. Ans (d) 

Sol.  

         

 

S2. Ans (b) 

Sol.  
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S3. Ans (b) 

Sol.  

 

 

S4. Ans (e) 

Sol.  

128×
1

2
 = 64 

64×
3

2
 = 96 

96×
5

2
 = 240 

240×
7

2
 = 840 

840×
9

2
 = 3780 

 

S5. Ans (b) 

Sol.   

The given series pattern on the prime number. 

2,3 ,5, 7, 11, 13, 17 

 

S6. Ans (e) 

Sol. 8.64 ×
1

?
= 100 × 1.8 × 0.2 

         ? =
8.64

36
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         = 0.24 

 

S7. Ans (c) 

Sol. 
693

?
×

625

55
= 875 

        ? =
693

875
×

625

55
 

         ? =  9 

 

S8. Ans (b) 
Sol. 

 ? =
100×3×7×25

2×5×14
= 375 

 
S9. Ans (a) 
Sol. 

    ? =
2

3
×240

0.8
 

      ? = 200 
 

S10. Ans. (d) 

Sol.  
43

100
× 125 × 12 + 55 = ? 

? = 700 

 

S11. Ans(e) 

Sol. 

I . x2 − 12𝑥 + 35 =  0 

   x2 − 7𝑥 − 5𝑥 + 35 =  0 
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   x(x −7) − 5(𝑥 − 7) = 0 

x = 7, 5 

 

II. y2 –  9𝑦 − 6𝑦 + 54 = 0 

    y(y –  9)  − 6(𝑦 − 9) = 0 

   y = 9, 6 

no relation can be established between x and y. 
 

S12. Ans(b) 

Sol. 

I . x2 + 4𝑥 + 3 = 0 

    x2 +3𝑥 + 𝑥 + 3 = 0  

   x(x + 3) + 1(𝑥 + 3)  =  0 

   (x +1) (x +3) = 0 

    x =  −3, −1 

II. y2 + 5𝑦 + 3𝑦 + 15 = 0 

    y(y + 5) + 3(𝑦 + 5) = 0 

   y = -5, -3 

So ,   x≥y 
 

S13. Ans(b) 

Sol. 

I . 4x2 –  6𝑥 − 2𝑥 + 3 = 0 

    2x(2x −3) − 1 (2𝑥 − 3) = 0 

      x = 1/2, 3/2 

II .  4y2− 1 = 0 

y2 = 
1

4
 

 y = ±
1

2
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So ,   x≥y 
 

S14. Ans(a) 

Sol. 

              I. 2x2 - 6x -5x + 15 = 0 

                2x(x - 3) - 5(x - 3) = 0 

              x = 3,
5

2
 

             II. 4y2 - 6y -2 y + 3 = 0 

                  2y(2y -3) -1(2y  -3) = 0   

                    y =
3

2
,

1

2
 

So, x >y 

 

S15. Ans(b) 

Sol. 

I . x2= 225 

   x = −15, +15 

II.   y = −15 

So,  x≥y 

 


